
GCSE Paper 3
Questions



1. With reference to the design mix, where would you place a Nike Air trainer? 

2. Why is it important for Nike to invest a lot of money into research and design? 

3. What problems would Nike have if they had poor stock control?

4. Improving the quality of a product and improving productivity are two ways in
which a business like Nike might become more competitive. Which of these two methods do you think 
would be most effective in improving the competitiveness of a business such as Nike and why?  

Starter

Answer in note 
form
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The trade-offs involved in designing new products can be shown in the triangle. As 
Craig tried to make his boot perform better, it became more expensive to produce and 
looked uglier. 
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With reference to the design mix, where would you place a Nike Air trainer? (4)



List the problems a firm may encounter with poor stock control;

Too much stock

Å Costs will rise ςwarehouse costs
Å Stock may go out of date

Too little stock

Å May run out of stock ςmiss orders, poor reputation

What is stock?

Raw materials
Work in progress (part made products)
Finished products



Improving quality

Å Create a better quality product > allow them to charge a higher price
Å Allow Nike to differentiate their product from other brands such as Reebok > this may 

increase sales
Å Improve brand loyalty and if customers are satisfied with a high quality product at should 
ǊŜǎǳƭǘ ƛƴ ǊŜǇŜŀǘ ǇǳǊŎƘŀǎŜΣ ƛƴŎǊŜŀǎƛƴƎ bƛƪŜΩǎ ǊŜǾŜƴǳŜ

Å However, it may result in higher costs, this will result in Nike having to increase their prices 
and this may result in less sales if their consumers are brand conscious

Å Improving productivity

Å This means that Nike will be able to produce more trainers for the same cost
Å This will allow Nike to reduce the price of their trainers, whilst maintaining their profit 

margins and charge a lower price. The lower price will result in a higher sales and profits.
ÅIƻǿŜǾŜǊΣ ǘƘŜ ƭƻǿŜǊ ǇǊƛŎŜ ŎƻǳƭŘ ŘŀƳŀƎŜ bƛƪŜΩǎ ōǊŀƴŘ ƛƳŀƎŜ ŀǎ ŎƻƴǎǳƳŜǊǎ Ƴŀȅ ŦŜŜƭ ǘƘŀǘ ƭƻǿ 

price may damage the brand image and Nike may no longer be a status symbol. 

ÅConclusion

Å In the marketing mix for Nike it may depend whether the product is more important than the 
price to consumers. 



7. What is the difference between quality control and quality assurance?

8. What are the benefits and drawbacks of JIT?



TQM

Total Quality Management is the commitment by all employees to providing 

quality products. The concept relies on all employees following a written 

procedure. Employees are encouraged to make suggestions feeding back their 

ideas on how the process could be improved; this is known as continuous 

improvement. The ultimate objective is to achieve zero defects, no faulty goods at 

all. Good quality components and machines are used. Everyone should ensure 

their work is done correctly before passing it on. TQM uses the idea of quality 

assurance.     

When staff are initially trained, procedures written and new machinery purchased, 

costs are likely to rise. However, as wastage falls and hidden costs are reduced

such as a firm getting a poor reputation or customers not returning because they 

have had poor quality products, then costs should start to fall in the long term. 



Quality Control 

ÅChecks are made on completed products.

ÅIt takes place after the event.

ÅInspects in Quality.

ÅX - could be a lot of waste

ÅX - not always possible to put fault right



Quality Assurance

ÅQuality components or raw materials are used in

the production process.

ÅEveryone follows a written procedure.

ÅEmployees are responsible for their own work.

ÅFocuses on how the products are produced

ÅPrevents failure ïRight First Time

ÅÕ- less wastage



8) Write down the formulae for:
a) Contribution
b) Break even
c) Margin of safety

Contribution = selling price ςvariable cost



© Boardworks Ltd 200711 of 23

Using a formula

(Contribution per unit = sales revenue - variable cost per unit)

As it is sometimes difficult to get an accurate BEP from a 

graph, and graphs can be time-consuming to draw, it is easier 

to use a formula to find the BEP. 

Break-even point (BEP) =

Fixed costs

Contribution per unit
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The margin of safety

Margin of safety =

Actual output - break-even output

The margin of safety is the number of sales above the 

break-even point, or the range of output over which a profit 

can be made.  A business can check its margin of safety with 

the following formula:



Task 1 - Break Even Charts



5Ǌŀǿ aŀǎƭƻǿΩǎ IƛŜǊŀǊŎƘȅ ƻŦ bŜŜŘǎΦ



Esteem 

Needs

Social Needs

Security Needs

Basic Needs

Maslowôs Hierarchy of Needs

Self Actualisation



7) ²Ƙȅ ƛǎ ƎƻƻŘ ŎƻƳƳǳƴƛŎŀǘƛƻƴ Ǿƛǘŀƭ ǘƻ ƎƻƻŘ ƳƻǘƛǾŀǘƛƻƴΚ [ƛƴƪ ǘƻ aŀǎƭƻǿΩǎ ƘƛŜǊŀǊŎƘȅΦ

8) Explain the following terms and then state how staff would be affected by them and 
what the advantages and disadvantages would be for a business using them?

a) Time rate ςpayment per hour
b) Piece rate ςpayment per item
c) Commission
d) Salary
e) Freelance work
f) Fringe benefits



2) What is often the trade-off for firms between profit and ethics?

3) What impact might pressure groups have on firms?

4) How might a firm damage the environment?

5) What are global warming and natural resource depreciation? 



Centralisation

These words refer to the extent to which authority is 
delegated in an organisation

If there was complete centralisation then 
subordinates would have no authority at all.

Complete decentralisation would mean 
that subordinates had all the authority to 
take the decisions they wanted and felt 
best for the business

ASPIRE
Evaluate the benefits and drawbacks of centralised and decentralised organisations

CHALLENGE
Define centralised and decentralised organisations and understand what factors can determine 
how a firm is organised. 



ASPIRE
Evaluate the benefits and drawbacks of centralised and decentralised organisations

CHALLENGE
Define centralised and decentralised organisations and understand what factors can determine 
how a firm is organised. 

McDonalds has a very centralised structure. All major decisions are 
taken centrally e.g. marketing, which suppliers to use, the menu, 
how to greet customers, uniforms, pay rates etc.

Questions

1) What are the advantages to McDonalds of centralised control?

2) What would be the drawbacks?



3) (a) McDonaldôs have a centralised structure. Which of the following is true of a 

centralised structure?

a) Senior managers have more control and make decisions from the point of view of the 

whole business

b) It empowers workers

c) They believe in Maslowôs Hierarchy of Needs

d) It allows flexibility and quicker response to change

a) McDonaldsô has a centralised structure and senior managers take all the key 

decisions in the company.

b) Empowerment delegates power and decision making to workers.

c) Maslowôs Hierarchy of needs refers to motivational techniques, not the structure of 

the Business.

d) A centralised structure does not allow for flexibility or quick response to localised 

problems. 



Red tape  

Pressure groups

Definition check: Write down a killer first sentence for the 
following two terms. 

ςrules and regulations e.g. Health and 
Safety at Work Act

- are groups that put pressure on the 
government or businesses to change 
their policies e.g. Green peace or 
British Chambers of Commerce 
(BCC).



Task: Why might some businesses like the rules and regulations 
governing business withdrawn? Discuss the answer in your teams. 



Reasons why businesses would like to see regulation cut;

Å Reducing costs e.g. repealing the minimum wage would 
result in costs falling in some labour intensive low paid areas 
of the economy, reducing firms costs, making them more 
competitive and profitable. 

Å Allow them to reduce costs in order to compete with cheap 
foreign competition from low wage economies.

Å Health and Safety legislation is complicated, time consuming 
ŀƴŘ ŀƎŀƛƴ ŀŘŘǎ ǘƻ ŀ ŦƛǊƳΩǎ ŎƻǎǘǎΦ 

Å Lower polluting vehicles costing UK industry an extra billion 
per year.



Firstly as the previous answer stated there would be many advantages to British business;

Å Reducing costs e.g. repealing the minimum wage would result in costs falling in some 
labour intensive low paid areas of the economy, reducing firms costs, making them more 
competitive and profitable. 

Å Allow them to reduce costs in order to compete with cheap foreign competition from low 
wage economies.

Å IŜŀƭǘƘ ŀƴŘ {ŀŦŜǘȅ ƭŜƎƛǎƭŀǘƛƻƴ ƛǎ ŎƻƳǇƭƛŎŀǘŜŘΣ ǘƛƳŜ ŎƻƴǎǳƳƛƴƎ ŀƴŘ ŀƎŀƛƴ ŀŘŘǎ ǘƻ ŀ ŦƛǊƳΩǎ 
costs. 

Å hǘƘŜǊ ŎƻǳƴǘǊƛŜǎ ǎǳŎƘ ŀǎ ¦{!Σ LƴŘƛŀ ϧ /Ƙƛƴŀ ŘƻƴΩǘ ƘŀǾŜ ǎǘǊƛŎǘ ŜƴǾƛǊƻƴƳŜƴǘŀƭ ŎƻƴǘǊƻƭǎΣ 
therefore a lot of unnecessary extra cost are being added to British businesses making 
them less competitive internationally.

Do you think that all regulations governing how business operate in the UK should be removed? 
(8 marks)



However, in a developed rich western economy, workers deserve both a safe working 
environment and a minimum standard of living (wage rate/holiday).

{ǘƻǇǎ ǘƘŜ ΨǎǿŜŀǘǎƘƻǇǎΩ όǘƘŜ ǳƴǎŎǊǳǇǳƭƻǳǎ ŦƛǊƳǎύ ŦǊƻƳ ƎŀƛƴƛƴƎ ŀ ŎƻƳǇŜǘƛǘƛǾŜ ŀŘǾŀƴǘŀƎŜ ōȅ ǎƛƳǇƭȅ 
making workers work in unsafe conditions for lower wages, when compared to the more socially 
responsible firms who are operating in a more stakeholder friendly way (is this a desirable 
objective in a developed society?). 

As part of the Single European Market, a level playing field should be created to stop countries 
from gaining a competitive advantage by have less strict laws.

Conclude ςwrite a conclusion to this question. 



Test

1. Define the term tariff.    (1 mark)
2. Define the term protectionism.  (1 mark)
3. Write down two ways a firm could attempt to become more ethical (or socially 

responsible). (2marks)
4. Write down two advantages and two disadvantages of a country experiencing economic 

growth. (4 marks)

5. . Is it morally correct for firms such as Nike paying a dollar a day to workers making clothes 
in Asia acceptable (create a balanced argument)?(10 marks)



1. Is it morally correct for firms such as Nike paying a dollar a day to workers making clothes in 
Asia acceptable (create a balanced argument)?

For

Creates jobs
New skills
Probably pay above the local wage rate and offer better conditions than the local factories
No one is forced to take the jobs ςlocals in the countries often want to work for Nike

Against

Pay a $ a day, often for a 10 hour day, whilst giving Tiger Woods a $100 million sponsorship deal 
ςis that morally correct?
Often move to countries where they are taking advantage of tax breaks and often lower health 
and safety standards and less strict labour laws.
Expensive premium priced product, but low wages! Morally correct? 



Product Portfolio Analysis
The Boston Matrix

¸ The Boston Matrix is a tool that can be used to compare products of 
a business and to work out how well they are doing.

¸ The Boston Matrix considers market share and the rate of growth in 
the market a product is operating in.

¸ A product portfolio is the range of products a business may sell 
¸ e.g. Unilever owns Slim -Fast, Birdseye, Hellmans, Dove, Comfort and many 

more

¸ As part of the planning 
process a firm needs to 
examine the position of 
its product in the 
market and this is 
product portfolio 
analysis.



Product Portfolio Analysis
The Boston Matrix

In the matrix are the links to the stages in the life 
cycle of each type of product in the Boston matrix

Growth Introduction

Maturity Decline



Product trial and repeat purchase

Product trials are the way businesses persuade customers to try out a new product or service to 

raise awareness of its existence and gain feedback on its possible success.  Product trial is also 

used to help build loyalty and establish repeat purchases.

What might a firm undertake (do) during a product trial?

Å Advertising

Å Free samples

Å User testing

Å Low trial prices

Å Targeting of trade buyers



3) LŦ /ŀŘōǳǊȅΩǎ ŘŜŎƛŘŜŘ ǘƻ ƭŀǳƴŎƘ ŀ ƴŜǿ ŎƘƻŎƻƭŀǘŜ ōŀǊΣ ǘƘŜȅ ŀǊŜ ƭƛƪŜƭȅ ǘƻ ǳǎŜ ŀ ǇǊƻŘǳŎǘ ǘǊƛŀƭΦ 9ȄǇƭŀƛƴ Ƙƻǿ ŀƴŘ ǿƘȅ ǘƘŜȅ 
might use a product trial when introducing a new product? (5 marks)

1 mark definition of a product trial ς! ǇǊƻŘǳŎǘ ǘǊƛŀƭ ƛǎ ǘƘŜ ǎǘǊŀǘŜƎȅ ŀ ŎƻƳǇŀƴȅ ǎǳŎƘ ŀǎ /ŀŘōǳǊȅΩǎ ǳǎŜǎ ǘƻ ƭŀǳƴŎƘ ŀ ƴŜǿ ǇǊƻŘǳŎǘ 
and attempt to get retailers to stock it and potential customers to try it.

3 marks ςƻƴŜ ƳŀǊƪ ŜŀŎƘ ŦƻǊ ŀƴȅ ƻŦ ǘƘŜ ŦƻƭƭƻǿƛƴƎ ŜȄǇƭŀƛƴŜŘ ŀƴŘ ǊŜƭŀǘŜŘ ǘƻ /ŀŘōǳǊȅΩǎ ƭŀǳƴŎƘƛƴƎ ŀ ƴŜǿ ŎƘƻŎƻƭŀǘŜ ōŀǊ

Å Lower trial price
Å Free samples
Å Targeting retailers encouraging them to stock it
Å Heavy advertising at its launch 
Å In store promotions

1 mark ςfor the explanation of why a product trial is used ςto build up a customer base for the product and encourage repeat 
purchase in the long run



Product differentiation

Å Create a list to show the ways that you think a business 
can differentiate its products!

Å Think of how Pringles have differentiated their 
product?

Å What is the reason for product differentiation?



How can a firm make a 
successful product?

Å Meeting customers needs

Å Correct marketing mix

Å Differentiating the product in terms of:
Å Design

Å Name

Å Packaging
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Branding

Å Branding is where companies give a product a unique 
name to distinguish it from other similar products.

Å The firm will be expected to spend a lot on marketing 
their product. 



4) 9ǾŀƭǳŀǘŜ !ȊǘŜŎΩǎ ŘŜŎƛǎƛƻƴ ǘƻ ŎǊŜŀǘŜ ŀ ΨōǊŀƴŘŜŘΩ ŎƘƻŎƻƭŀǘŜ ōŀǊΚ όу ƳŀǊƪǎύ

Advantages related to Aztec of branding their product

Å Charge a premium price
Å Brand loyalty ςrepeat purchase
Å Potentially larger sales, revenues and profits
Å Could make Aztec a national brand

Disadvantages related to Aztec of branding their product

Å A lot of investment would be required in creating a national brand ςwould a small business such as Aztec be able to 
raise the funds to finance this? 

Å Higher cost will result in Aztec having to charge a higher price to maintain profit margins
Å 80% of new brands fail ςthis could put Aztec as a business at risk
ÅLǘ ƛǎ ŀ ǾŜǊȅ ŎƻƳǇŜǘƛǘƛǾŜ ƳŀǊƪŜǘ ǿƛǘƘ /ŀŘōǳǊȅΩǎ ŀƴŘ aŀǊǎ ςlarge established brands to compete against who will have 

established brands, larger marketing budgets and established channels of distribution (shops, supermarkets) 
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Public limited companies

With a greater number of shareholders, public limited 

companies are able to grow at a faster rate than companies 

which remain private. However, because shares can be 

bought by anyone, public limited companies are vulnerable 

to takeovers.

Private limited companies become public by floating their 

shares on the stock market, to be bought and sold by the 

public. They do this in order to raise capital for expansion. 

The majority of large British 

companies, including Tesco, 

Boots, Marks and Spencer 

and Barclays are public 

limited companies. 



Arsenal football club was a private limited company (ltd) with a stadium that just 
held 35,000 people (Highbury Stadium). In order to compete with larger clubs such 
ŀǎ aŀƴŎƘŜǎǘŜǊ ¦ƴƛǘŜŘ ŀƴŘ ǘƘŜ ƭŀǊƎŜǊ 9ǳǊƻǇŜŀƴ /ƭǳōǎ ƛƴ ǘƘŜ /ƘŀƳǇƛƻƴΩǎ [ŜŀƎǳŜ ǘƘŜȅ 
wished to raise £200 million in order to build a new stadium to increase capacity  to 

62,000 people and hence, the revenue of the club.



Highbury



The Emirates



The board has come up with two options!

Option A

Borrow £200m 
form the bank

Option B

Float Arsenal on 
the stock exchange 
by issuing £200m 

of new shares 
(40% of the 
company)

In your pairs, discuss the two options. 
Make a list of the advantages and 
disadvantages of both options and 

then write a paragraph explaining your 
recommendations to the board. Be 
prepared to feedback to the class.



Advantages of floating on the stock exchange

Å The football club could raise £200m but without any debt.
Å Arsenal would not have to pay back any money.
Å Arsenal would not have any interest repayments to make. 
Å It would increase the status of the business and make it easier to borrow money from the 

bank in the future. 

Disadvantages of floating on the stock exchange

Å The owners will have to give up control of the business (depending on the percentage of 
share sold).

Å The original owners will have to share their profits with the new shareholders
Å The owners will have no control over who buys the shares
Å It will make the business more vulnerable to potential hostile takeovers. 
Å It is a long and fairly expensive process. 



Advantages of Bank Loans

Å They are relatively instant (compared to a floatation).
Å The owners will keep complete control of the company.
Å The owners will keep all the profits

Disadvantages of Bank Loans

Å They have to be paid back and with interest. This will mean that Arsenal will have less money 
to invest (spend) on new players (or the repayments will have to come out of profits).

Å If Arsenal can not make the repayments, the business would be declared bankrupt. 
Å If the club becomes burdened with debt, its value may fall. 

Homework question: For a business (a real one) of your choice, decide whether the board of 
directors would be better expanding through issuing new shares or by borrowing money from 
the bank. (10 marks)  (create a balanced answer with an evaluated conclusion)



The Marketing Mix

ÅThe Marketing Mix is a combination of factors 
that help businesses sell its products.

ÅWrite down the 4Ps.

ÅThe marketing mix is made up of the п tΩǎ

ÅProduct

ÅPrice

ÅPlace 

ÅPromotion 



Product

ÅDefine the term product

ÅA product is a good or service produced
by a business. 

ÅTo be successful, the PRODUCT must meet 
customer needs. It must do what it says, have the 
appropriate specifications and be appealing 
(where design/looks are important). 



Pricing Strategies

Cost-plus 

pricing

Penetration 

pricing

Skimming

Competitor 

pricing

Price 

discrimination

Psychological 

pricing



Cost-plus 

pricing

Setting a price by adding a fixed amount or 

percentage to cost of making product

Penetration 

pricing

Setting a very low price to gain as many sales 

as possible

Price 

skimming

Setting a high price before other competitors 

come into market for a new product

Competitor 

pricing

Setting a price based on competitors prices

Price 

discrimination

Charging different prices for the same product 

or service to different groups of people e.g. 

OAPs

Psychological 

pricing

Setting a price just below a large number to 

make it seem smaller e.g. £9.99 not £10

1) Think the different pricing strategies businesses could use. Give examples for each strategy.

2) What would be the implications for a business who set their prices too high?

3) What would be the implications for a business who set their prices too low?



Place
ÅPlace is about how products are distributed form 

producers to consumers. It is ensuring that 
goods/services are available to customers where 
and when they want them.



Channels of Distribution

Traditional

Modern

Direct

Manufacturer

Manufacturer

Manufacturer

Wholesaler Retailer Customer

Retailer Customer

Customer


